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Third Semester B.E. Degree ExaminptiffiffAug./Sept. 2020
#'.,-\Network Analysis

*:Y*
Time: 3 hrs. $T$" ' - Max. Marks:loo
Note: Answer any FIVE full questions, seleqt*gfi^'tit least TWO questiapib.from each parl
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1 a. Find the voltage drop across each.qft#rt sourge shown in ffi(a). Using Nodal analysis.
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*{ $;p Fig;QI(a)
Use Mesch andlSjsifind I* in the circuit ffil in Fie Ql(b).
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ffimn 
series resistance across

:

A

(06 Marks)

with example:
(06 Marks)

(07 Marks)

\ \-|_-*ffi*-t*3w -r-mv FigQlffi
c. Reduce the network rffi#n in Fig al(cLfiipb single .o*q

the terminal A-Bq, €r' :"?*-n -ry*h ,* .r-'' 1A ;s#-$** \ $Wk-''eta- .",kFT\*q/ %Jl& 
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a. Define th3 fBflowing terms- wiph #spect to Network Topology

i) Oriented graph iD T#fu iii) Tie set.

b. Draw the oriented graptt-f,opthe incidence Matrix shown
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Draw the Dual of the network shown in Fig Q2(c).
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q.FiB Q2(c1
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(07 Marks)

Using super position theorem find tS$.voltage V* in the netwolk shown in Fig Q3(a).
', -,r;;,

(08 Marks)

)rem find:ihe+,foltage V* for the netwo"ik shown in Fig Q3(b) and also
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Fig Q3(a) Fie Q3(b)
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What resistance should be ed across A-B for,'the network shown in Fig Q4(b) such

that maximum power is developed across this lo;Aidistance? What is value of inaximum

verify reciprocity theorem. , 
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power? (08 Marks)
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c. State and,qxplain Norton's theo
"i,lifi$siHr:
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Fig Q4(a)

a. ,Bhow that the value of thpiMuctor for maximum voltage across it in case of inductor tuni

,,,dfueries resonance,is" L ja 
I R'? + Xl 1. '-a.r,', (07 Mar
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fi;=';;Shown that the eirittitlshown in Fig Q5(b)'is resonant at supply frequency,
,iq*.P =C IR'? + Xl ]. '-,+.,r
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:.,*..*, Fig Q5(b) (06 Marks)

c. A coil of resistance 20Otnd inductance 1OmH is in series with a capacitance and is supplied

with a constant voltage, variable frequency source. The maximum current is 2A at 1000H2.

Find the half cutoff,,frequencies. (07 Marks)
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6 a. What is thereason of studying initial and final conditions? Also write the procedure for

evaluating ir{itial conditions. (04 Marks)
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b. For the Network shown in Fig Q6(b), if the capacitor is inffi uncharged, determine the

varueof 
d'Y' 

und 
o''J u,r=0*'Assumevr (t)- {e-" ffi (08Marks)

dt' dt' I Q*#-b.< o

c. For the circuit shown in Fig Q6(c), switch f is gi##at't = 0 with zero current in the

inductor, Find the value of i, $ and #. SSt 
-" (08 Marks)
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What are the advantages o$ftfEce transformation met

the waveform. Shown irgffi(a). ffiffi-,avttt #d"'rus 'l' *r
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Find the Laplace transform of
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n method when the switch
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bhown in Fig Q8(a).
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Find the T-parameter forqtkilfuaetwork shown in Fig Q8(b) and allo obtainZ-patameter
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Fie Q8(b)
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is open at t : 0 for the cilcuit*shown in Fig Q7
switch is closed. .;fu &

r.j\ F =o lrti
@** . rx:;

ie Q7(b)

(10 Marks)


